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Namn_____________________________ 

1    Beräkna! 

  a)   4	×		7 + 8	×		4 = 

 b)        56 − 	6×	4	 = 

 c) 500 − (1 + 9) = 

 d)    400 − 1 + 9 = 

2    Beräkna!  
      Glöm inte att visa hur du har tänkt. 

   20 000   –  48 = 

3         !ä#$%&'
(ä)(%&'

=  

4   Beräkna!  
     Visa hur du har tänkt. 

               4* 	= 

 



 

5    Avrunda till heltal! 

 a)    7,08 » 

 b)  290,9 » 

6 Bestäm kvoten om nämnaren är 4 och täljaren är 48.   
 
 
 
 
 
 
 

7 Skriv        <  =  eller  >     mellan talen. 
 

a) 24 12 
b) 3,06 3,5 
c) 17 17,0  

 


